N of reco track vs dxy(PV)

N of associated (recoToSim) tracks vs dxy(PV)

N of associated (recoToSim) looper tracks vs dxy(PV)

2 2 ° 2
Q [*] o Q
g g g g
= © 10° © ©
B 1 B 102 g
o
=1
o

o+
3
24

o =15-10 -5 0 5 10 15 20 051510 5 0 5 10 15 20
L Jrack dxy(PV) (cm) track dxy(PV) (cm)
LLlJcll 5IIQJ>-CJ. IICWBCUIII
rlhc Ss? t%%r Iphﬁsel
emplate al ase e

2 2 2
g g g
£ £ £
3
=3
=

0 02 04 06 0.8
track dxy(PV) (cm)

N of reco track vs dz(PV)

0%0 —2 -0 0 1 30
track dz(PV) (cm)

N of reco track vs dz(PV)

BT

103 .................................

+’$+Wﬁ

’|5 ||l||l||| “ l' i
0L
-1 0

track dz(PV) (cm)

Ratio

0 0. 0.8
track dxy(PV) (cm)

N of associated (recoToSim) tracks vs dz(PV) |

true tracks

L
| |E|

track dz(PV) (cm)

N of associated (recoToSim) tracks vs dz(PV) |

true tracks

"Iiié'

track dz(PV) (cm)

Ratio

fake tracks

fake tracks

Ratio

IEIIIIIIIl'Iiiiiil!hHll

05 1

track dz(PV) (cm)

Ratio

N E=06-04-02 0 02 0406 0.8
track dxy(PV) (cm)

N of associated (recoToSim) looper tracks vs dz(PV) |

duplicate tracks

30
track dz(PV) (cm)

N of associated (recoToSim) looper tracks vs dz(PV) |

duplicate tracks

=
(=)

T 05 0 05 1
track dz(PV) (cm)



	Contents
	Page 1


